ALLTSES 5:'; °”§'§"w"f.f oA»? DmrsR SERT 3 THE PROPERTY These commodities or technology are exported from the U.S. in accordance with REVISIONS

TO ICLE SHEET IS THE PROPERTY
& N22L¥';“g§mooi?§,7°§‘¢;‘§g‘5uc$‘ MFORMATION|  the Export Administration Regulations. Diversion contrary to U.S. law prohibited. REV LTR DATE ENG MKTG Q.A.

OR APPROPRIATED BY OTHERS WITHOU'i’ THE EXPRESS

WRITTEN CONSENT OF POLYPHASER CORPORATION.

B 11/27/014| RCD TE RM
/ . c 06/04/02 o JJ PH RM
D 07/02/03 4| RD ) LJ
E 10/25/07 AD | - - | - -
+

2.00 [50.8]

1.25 [31.7]

- 1.50 [38.1] — =

.625 [15.9]

2X 44 [11.1]
2X

.200 [5.1] {
( /¢.19 [#4.9]
Ve /\
¢ +
? O O
i @ - ‘@*\ 1.00 [25.4]
.50 [12.7]
|

-_TL _________ %_- 2X
»‘ 1.000 [25.4] .17 [84.4]

MOUNTING PATTERN

PN

ITEM DESCRIPTION QTY
1 8-32 x 1/2 PHIL SCREW 2
2 #8 INT. TOOTH LOCKWASHER 2 CUSTOMER APPROVAL: DATE:
ALL DIMENSIONS SHOWN ABOVE ARE FOR REFERENCE ONLY.
3 8-32 HEX NUT 2
DRAFTER DATE
4 | BULKHEAD TO FLANGE ADAPTOR 1 S. HALL | 04/06/99 rPOlYPhOSer
MECH ENGINEER DATE P.O. BOX 9000 MINDEN, NV 89423 TEL: 775-782-2511 FAX: 775—-782—-4476
5 10-32 X 1/2 SLOTTED SCREW | 2 R. DUNNING | 04/06/99 iowcwo/eart Wo/descrpio
ELEC ENGINEER DATE B F D
6 10-32 HEX NUT 2 __K. BARTEL ri):/ocs/gg
BULKHEAD TO FLANGE FOR DIN’S
7 | #10 INTERNAL TOOTH LOCKWASHER| 2 T. FRALEY | 04/06/99 CUSTOMER PRINT
QUALITY DEPT DATE CAGE CODE |FILE NAME SCALE SHEET
R. MATHEUS | 04/06/99 61114  —c1 | 171 ™1 oF 1




